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NOx
h33 0.0 0.02 0.03 0.03 0.06 0.11 0.21 0.40 1.44 50.69  0.90 0.33 0.18 0.06 0.05 0.04 0.02 9 9 o7
F0.02 0.02 0.02 0.03 0.04 0.07 0.12 0.23 0.60 2.5 5.37 0.68 0.31 0.14 0.09 0.04 0.03 0.02 8 0.01 —
= 0.03 0.02 0.03 0.03 0.04 0.08 0.12 0.30 0.96 5.13 1.91 0.49 0.22 0.14 0.07 0.05 0.03 0.01 9 _—
= o001 0.02 0.03 0.03 0.06 0.07 0.16 0.36 0.39 0.20 0.11 0.06 0.04 0.03 9 0.01 2
80 0.85 0.90 0.95 1.05 1.10 1.15 1.20
Ox
- o 0 0 0 2 5 9 0.03 0.29 I 0.12 0.01 1 0 0 0 0 0 0 _
Fo 0 0 0 0 0 3 0.02 0.04 . 0.04 3 0 0 0 0 0 0 0 =
=) 0 0 0 0 0 1 0.02 0.09 0.81 0.02 4 4 0 0 0 0 0 _—
= o 0 0 0 1 4 3 0.03 0.15 0.26 0.01 8 0 0 0 0 0 0 0
.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
PAN
s 0.02 0.02 0.03 0.05 0.08 0.12 0.24 0.74 1.75 4362  0.78 0.26 0.16 0.05 0.03 0.03 0.03 8 3 _Tdo2
) 0.01 0.02 0.04 0.07 0.08 0.13 0.31 0.91 2.94 3.93 0.49 0.22 0.13 0.04 0.03 0.03 v 4 3 —
= 0.01 0.02 0.02 0.03 0.06 0.12 0.15 0.41 1.02 6.82 1.65 0.43 0.19 0.11 0.03 0.02 0.03 0.02 7 _
=7 0.02 0.02 0.04 0.06 0.11 0.21 0.81 1.30 I 1.06 0.33 0.18 0.08 0.04 0.02 0.02 6 0.01 0
.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
CO
- o 0 0 0 2 6 9 0.02 0.15 I 0.09 0.01 2 0 0 0 0 0 0 _
Fo 0 0 0 0 1 8 0.01 0.03 0.05 0.01 2 1 1 0 0 0 0 —
=) 0 1 1 1 3 4 0.0 0.04 0.03 0.01 4 0 1 0 0 0 _—
= o 2 0 2 2 4 5 0.02 0.10 i 0.19 0.01 6 1 1 0 0 0 0 0
.80 0.85 0.90 0.95 1.05 1.10 1.15 1.20
s 0.02 0.17 0.03 0.04 0.06 0.11 0.20 0.50 1.63 5376 1.22 0.29 0.12 0.08 0.04 0.02 9 5 5 _10
8 0.02 0.17 0.05 0.04 0.08 0.12 0.27 0.75 2.21 11.58  0.84 0.26 0.10 0.06 0.03 0.01 v 6 6 —
= 0.01 0.02 0.03 0.16 0.04 0.09 0.32 0.31 0.87 4.04 4.65 0.57 0.19 0.08 0.07 0.03 0.02 0.01 3 _—
= 8 0.03 0.03 0.04 0.19 0.25 0.20 0.48 1.26 0.42 0.12 0.06 0.06 0.01 0.02 5 6 3
.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
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ISOP
E21  0.38 0.41 0.47 0.55 0.82 0.83 1.06 2.09 2.21 14.99 2.1 0.86 0.64 0.43 0.35 0.27 0.25 0.20 0.18 _ a4
028 0.38 0.45 0.52 0.86 0.84 0.82 1.38 2.24 2.44 6.84 1.51 1.02 0.56 0.42 0.28 0.48 0.22 0.21 0.18
= 0.34 0.38 0.46 0.51 1.26 0.77 0.87 1.42 1.74 3.28 3.26 1.57 0.73 0.51 0.59 0.27 0.46 0.18 0.20 0.177
= 0.39 0.40 0.46 0.51 0.71 0.83 0.96 1.45 1.92 5.09 2.44 1.19 0.63 0.50 0.40 0.42 0.34 0.18 0.18 0.19
- — e -
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
HNOJ3
Moo 9 0.02 0.02 0.03 0.04 0.08 0.13 0.34 1.24 5219 1.18 0.29 0.14 0.06 0.03 0.02 0.01 0.02 5 05
8 0.01 0.01 0.03 0.02 0.02 0.07 0.14 0.39 2.07 10.58  0.84 0.23 0.11 0.05 0.02 0.02 8 4 4 =
= 8 0.01 0.02 0.02 0.03 0.05 0.10 0.18 0.52 4.72 3.71 0.58 0.20 0.08 0.03 0.02 0.02 0.02 3 2 _—
= 001 0.01 0.02 0.03 0.03 0.07 0.11 0.28 1.00 2.15 0.46 0.13 0.06 0.03 0.01 0.02 0.01 8 2
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
H202
- o 0 0 0 0 0 8 0.04 0.17 0.02 1 0 0 0 0 0 0 _
Fo 0 0 0 2 1 0 0.02 0.07 0.08 0.01 1 0 0 0 0 0 0 —
= o 0 0 0 3 0 1 0.04 0.08 0.60 0.06 6 0 0 0 0 0 0 o _—
= o 0 0 0 0 0 3 0.03 0.19 0.23 0.04 4 0 0 0 0 0 0 0
80 0.85 0.90 0.95 1.05 1.10 1.15 1.20
- o 0 0 0 2 3 9 0.02 0.22 0.21 0.02 4 1 0 0 0 0 0 _
) 0 0 0 0 3 3 0.01 0.03 0.10 0.01 5 1 0 0 0 0 0 —
= o 0 0 0 1 2 9 9 0.05 0.05 0.01 3 4 1 0 0 0 o _—
= o 0 0 0 2 3 4 0.01 0.12 0.03 8 4 1 0 0 0 0 0
80 0.85 0.90 0.95 1.05 1.10 1.15 1.20
MEK
s 4 9 0.02 0.04 0.06 0.09 0.21 0.54 1.33 53.49  1.46 0.52 0.16 0.12 0.05 0.03 0.01 5 0.02 _To5
F0.01 6 5 0.02 0.02 0.07 0.10 0.55 0.81 2.27 11.52  1.02 0.34 0.15 0.07 0.04 0.03 0.01 0.02 4 —
= 5 7 0.02 0.03 0.04 0.07 0.16 0.30 0.71 3.46 4.23 0.77 0.28 0.10 0.06 0.03 0.02 0.02 0.01 —
= 9 7 0.02 0.02 0.05 0.10 0.19 0.51 1.14 0.67 0.18 0.12 0.06 0.05 0.02 0.02 0.01 4
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
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ALD2
mne 6 8 0.03 0.03 0.07 0.12 0.18 0.39 1.10 0.81 0.34 0.15 0.07 0.05 0.02 0.01 7 9 _ o3
Fo 0.01 0.01 0.03 0.05 0.07 0.10 0.25 0.49 1.80 6.25 0.59 0.25 0.15 0.07 0.03 0.01 0.01 6 5 —
= 0.02 0.02 0.01 0.03 0.06 0.08 0.15 0.27 0.68 2.76 2.29 0.45 0.20 0.09 0.05 0.03 0.02 6 2 2 _—
= 9 0.01 0.01 0.04 0.05 0.11 0.15 0.35 0.83 0.38 0.20 0.08 0.06 0.03 0.02 6 9 3
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
RCHO
Moo 0.0 0.02 0.02 0.06 0.23 0.15 0.22 0.47 1.43 52,35  1.08 0.39 0.22 0.11 0.08 0.06 0.06 0.04 0.02 _ 09
5 0.02 0.03 0.03 0.08 0.14 0.32 0.41 0.55 2.33 9.93 0.82 0.34 0.20 0.10 0.04 0.06 0.02 0.02 0.02 —
= 0.02 0.02 0.02 0.04 0.07 0.27 0.20 0.34 0.85 4.18 3.06 0.61 0.31 0.17 0.10 0.06 0.04 0.04 0.03 0.a2—
= 002 9 0.02 0.05 0.06 0.14 0.27 0.55 0.93 0.43 0.24 0.18 0.08 0.06 0.05 0.04 0.01 o]
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
MVK
bs3 013 0.17 0.18 0.23 0.37 0.48 1.55 1.85 3.75 16.39  3.22 1.06 0.66 0.50 0.29 0.22 0.15 0.15 0.15 _ 92
F0.09 0.10 0.15 0.17 0.29 0.38 0.76 1.95 1.97 4.95 6.04 2.07 0.78 0.44 0.38 0.45 0.31 0.31 0.15 0.16 —
= 012 0.13 0.17 0.19 0.30 0.45 0.97 1.80 2.03 6.28 3.46 1.22 0.65 0.41 0.31 0.27 0.25 0.16 0.12 0.117
= 0.0 0.16 0.19 0.21 0.29 0.44 113 1.78 3.20 8.62 2.87 1.13 0.59 0.46 0.30 0.21 0.45 0.17 0.12 0.1
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
MACR
bsa 0.5 0.13 0.15 0.21 0.33 0.48 0.72 2.36 2.82 17.25  2.90 0.95 0.50 0.37 0.42 0.25 0.18 0.16 0.15 _ =34
F0.10 0.15 0.18 0.20 0.26 0.35 0.51 0.93 2.57 5.94 6.20 2.24 0.92 0.45 0.38 0.32 0.21 0.17 0.16 0.14 —
= 0.09 0.14 0.16 0.20 0.26 0.38 0.53 1.21 2.51 7.01 3.31 1.38 0.68 0.56 0.30 0.27 0.30 0.28 0.16 0.14—
= 0.4 0.12 0.20 0.19 0.31 0.39 0.53 1.93 2.39 9.73 2.78 1.03 0.61 0.38 0.31 0.27 0.20 0.55 0.16 0.1
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
PMN
04 0.10 0.13 0.16 0.21 0.39 1.02 1.52 2.51 3.63 2010 2.28 0.86 0.58 0.27 0.34 0.20 0.15 0.13 0.08 _ 138
F0.09 0.11 0.14 0.18 0.28 0.50 1.12 1.52 2.71 3.91 6.03 1.48 0.51 0.40 0.28 0.19 0.51 0.13 0.10 0.09 —
= 0.10 0.10 0.14 0.18 0.28 0.63 111 1.49 2.54 5.32 3.66 1.02 0.50 0.39 0.27 0.24 0.17 0.11 0.09 0.0z
= o014 0.14 0.16 0.17 0.33 0.75 1.43 1.59 2.84 9.22 3.57 0.86 0.45 0.48 0.22 0.34 0.16 0.15 0.09 0.09
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
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PPN
2 0.0 7 0.03 0.03 0.06 0.39 0.16 0.60 1.48 53.84  0.84 0.28 0.12 0.04 0.02 0.02 0.01 0.02 5 _ o7
= 9 0.02 0.03 0.05 0.07 0.15 0.21 0.57 2.23 4.43 0.56 0.20 0.09 0.03 0.03 0.02 0.01 0.01 0 —
= 5 0.01 0.02 0.05 0.07 0.15 0.41 0.83 4.26 2.00 0.47 0.13 0.08 0.03 0.01 0.02 9 0.01 2 _—
= 9 7 0.02 0.01 0.05 0.08 0.32 0.34 0.95 0.35 0.13 0.06 0.03 0.02 9 0.01 0.01 8
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
R4N2
= o 0 0 1 0.01 0.01 0.01 0.09 0.55 0.49 0.11 0.05 8 6 0.01 2 0 1 _ 8
o 0 0 0 2 0.01 0.02 0.03 0.32 0.38 0.10 0.04 0.01 8 2 2 3 3 =
= o 1 1 1 1 4 0.02 0.19 0.26 0.28 0.08 0.01 7 3 6 1 0 o _—
= o 0 1 2 2 7 0.03 0.22 0.43 1.15 0.15 0.05 0.01 9 3 0 3 1 0
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
PRPE
73 0.12 0.12 0.13 0.19 0.27 0.40 0.84 2.14 2.71 2016 3.17 0.77 0.45 0.32 0.25 0.19 0.12 0.12 0.10 _ 151
F0.08 0.12 0.13 0.17 0.22 0.35 0.54 1.05 2.12 5.61 6.08 2.46 0.84 0.41 0.31 0.23 0.30 0.15 0.11 0.09 —
= 0.09 0.14 0.17 0.16 0.27 0.39 0.52 1.44 2.25 7.24 3.48 1.42 0.67 0.55 0.31 0.34 0.30 0.13 0.09 0.08
= 0.1 0.13 0.17 0.17 0.30 0.42 0.67 1.88 2.41 10.44  2.85 0.97 0.53 0.38 0.43 0.35 0.28 0.11 0.09 0.0t
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
C3H8
1 1 2 6 7 7 0.02 0.03 0.10 0.63 294 033 0.06 0.02 0.02 1 1 1 0 0 _
) 1 4 5 6 5 0.03 0.04 0.15 1.27 8.13 0.20 0.04 0.01 0.02 1 2 0 0 0 —
=1 3 7 4 4 0.01 0.02 0.05 0.24 2.62 1.67 0.10 0.03 7 0.01 1 0 0 0 o _—
= 2 3 6 7 5 0.01 0.03 0.06 0.41 0.58 0.07 0.02 0.01 7 2 0 1 1 0
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
CH20
mn3s 6 4 6 0.01 0.03 0.03 0.10 0.22 0.76 607  0.41 0.13 0.06 0.03 0.01 4 3 0 0 _
) 2 7 9 0.01 0.03 0.04 0.10 0.29 118 5.19 0.36 0.08 0.04 0.03 0.01 0 0 0 0 —
= 3 8 5 0.02 0.02 0.03 0.05 0.15 0.41 2.66 1.37 0.21 0.05 0.04 0.02 3 3 0 1 o _—
= 2 1 5 0.01 0.01 0.03 0.07 0.19 0.53 0.76 0.15 0.06 0.02 0.02 0 4 0 0 0
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
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C2H6
- o 0 0 0 0 4 7 0.01 0.05 513 0.04 0.01 2 0 1 0 0 0 0 _
) 0 0 1 0 2 3 5 0.01 0.10 1.49 0.03 9 2 0 0 0 0 0 0 —
= o 0 0 0 1 2 2 7 0.02 0.35 0.28 0.01 4 0 1 0 0 0 0 =
= o 0 0 1 1 1 4 9 0.03 2.26 0.08 0.01 0 1 1 0 0 0 0 0
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.2

N205
11 0.07 0.07 0.08 0.11 0.15 0.25 0.53 0.78 2.20 39.46  0.91 0.41 0.23 0.16 0.12 0.09 0.07 0.07 0.06 _
0.05 0.05 0.06 0.10 0.10 0.16 0.43 0.45 1.02 3.38 6.64 0.72 0.37 0.22 0.18 0.11 0.11 0.08 0.08 0.05 —
= 0.05 0.06 0.09 0.11 0.13 0.37 0.31 0.68 1.12 5.61 2.20 0.55 0.27 0.20 0.13 0.12 0.07 0.07 0.07 .05
= 006 0.06 0.07 0.11 0.16 0.41 0.33 0.66 1.67 1.28 0.46 0.25 0.17 0.13 0.11 0.06 0.08 0.06 0.0f
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.2

HNO4
42 0.0 0.03 0.03 0.05 0.09 0.12 0.24 0.68 2.07 50.60  0.89 0.36 0.15 0.12 0.07 0.04 0.04 0.02 8 _a
) 0.02 0.04 0.04 0.04 0.10 0.14 0.30 0.61 3.03 4.53 0.65 0.29 0.14 0.11 0.05 0.04 0.05 0.04 8 —
= 0.01 0.02 0.02 0.04 0.06 0.11 0.19 0.38 0.97 5.52 1.68 0.54 0.26 0.12 0.08 0.05 0.03 0.04 0.02 =
= 002 0.03 0.04 0.04 0.07 0.12 0.17 0.54 1.33 1.08 0.46 0.20 0.13 0.05 0.04 0.03 0.02 0.02 3
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.2

MP

= o 0 0 2 0.01 0.01 0.06 0.16 0.18 0.04 0.02 0.01 8 2 3 1 _
= 0 0 4 4 0.01 0.02 0.08 0.22 0.12 0.04 0.01 0.01 0.01 3 1 0 —
= o 1 0 0 9 0.02 0.02 0.09 0.33 0.10 0.04 0.03 0.01 8 4 4 =
= o 0 0 1 9 0.03 0.03 0.11 0.55 0.25 0.07 0.03 0.02 7 4 9 2 3
80 0.85 0.90 0.95 1.05 1.10 1.15 1.2
m31 0.02 0.05 0.05 0.08 0.10 0.11 0.20 0.38 1.01 48.92  2.62 0.76 0.47 0.30 0.17 0.15 0.14 0.09 0.07 _m
F0.02 0.05 0.04 0.06 0.09 0.08 0.12 0.23 0.46 1.38 11.45 222 0.62 0.46 0.29 0.20 0.13 0.08 0.06 0.06 —
= 0.02 0.04 0.05 0.07 0.09 0.10 0.13 0.24 0.56 2.07 5.90 2.17 0.59 0.38 0.24 0.17 0.13 0.08 0.07 Q6]
= 003 0.05 0.05 0.06 0.10 0.10 0.17 0.27 0.73 419 3.63 111 0.53 0.36 0.20 0.17 0.12 0.08 0.06 0.0t
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.2
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